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Instructions - 1) Check the gquestion paper for fairness of printing. If there is

any lack of fairness, inform the hall supervisor immediately,
2]  Only blue or black ink must be used to write and underline.
Pencil can be used to draw the diagrams.

uSl = | / PART - |

@iy () syemargg allarrssmsgin el el ssayb, 15x1=15
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Bai a @5 B 555 @l uF G allenullanarayh Bodgs sragsay,

(i}  All guestions are compulsaory.

(i) Choose the most appropriate answer from the given four altarnatives and
write the option code with the corresponding answer,

Biw whl menon petnrs Renawhaiena s s STHET LI,

(-nq) Pair {-my) Triplet (@) single (=) guadrat
Bundling two values together into one can be considered as
(A) Pair (B} Triplet (C) single (D} quadrat

FCy Sar@Esou’ Rever Furels mllapennofld, wer d'er susny Sweisns

a) Disp(): b) a:=7 c) print a d) Disp{)
(54) n_swemenie () e g Semadu
()] mjemi_dmin (#} o_dredsmenri s
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The kind of scope of the variable 'a' used in the pseudo code given below

a) Disp(): b) a:=7 c) print & d) Disp()
{A) Local (B) Global (C) Enclosed (D) Buikt-in

wluiflur pldesr (Big Q) = & senarsdifl

(==} Blufiw 5 (Big O) () Sudiar g’ (Big ©)
(@) Sudflus e (Big A) {w]) @uflu srew (Big 5)

Big {2 is the reverse of

(A) Big O (B) Big @ {C) Big A (D) Big 5

emugGsTar SHriiysaflsar 1A

(=) Pyt () .0t (&) .Pdm (=) Py
Extension of Python files is
(A} Pyt (B) .ot (C) .Pdm (D) .Py

for i in range(10, 0, 2)
print(i)
sraarm mlirall&r blaefluf
[y 10B 6420 (=) 108642 {@) 0246810 (=) teny
The output of the Segment
foriin range (10, 0, 2)
prnti}
3
(A)I0BE 420 (B)10B64 2 (C)0246810 {D) Error

bin{ ) SrwhHe o G Eglea srisama abs wperblarm B s £mino

Lo} O () 1 (3 Ob (=} 1b
The bin{ ) function returns a binary string prefixed with:
(A)D (B)1 {C) Ob (D) 1b

Stri="COMPUTER' starm srggleo, P’ ereirm o miiden Smiwanm wihmis
et T ioemm &bl WAl s

(=) 3, -4 (g} 4, -4 (@3 -5 (=) 4, -5
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10.

11.

12.

The positive and negative indax values of ‘P in the string Stri='"COMPUTER' ara
(A) 3, 4 Bl 4, -4 (C) 3, -b (D)4, -5

Spsrgpen  ahs San GFwdur®, Srend  sendsemEsE  Gurgiores
e Myt Ssi Fhiswrs hHn Senarhsl o THULSenaTuil o srert 48w 7

(5} swsfrrar gy () Banmrur(®

(&) Slan & () @eriiy

Which of the following set operation includes all the elements that are in two sets
but not the one that are commaon to two sets?

(A) Symmaelric diference 1B) Difference

(C) Intersection (D) Union

@reme suysdrme pardlarm L rs Garane wref

(=) private {-a) public (&) protected (=) static
A variable prefixed with double underscore is
{A) private (B) public (C) protacted (D) static

IBM flpysusmrgmray soamairds o L saa) wr £

(o) Long lamaw (o) &_meyfena (&) susmsvsnuing (») ER
The data model developed by IBM is
{A) Hierarchical (B) Relational (C) Metwork (DM ER

PE SraySsardons sHEury Fwinsh sraygsauss wrhnin SOL s Cmear

() CURRENT  (ay) USE (@) DATABASE (=) NEW
The SQL command to make a database as current active database is
(A) CURRENT (B) USE (C) DATABASE (D) NEW

CRLF sremugar aflflaurdsin

(%) Control Return and Line Feed  (.gy) Carriage Return and Form Feed
(Z)) Control Router and Line Feed (=) Carriage Return and Line Feed

The expansion of CRLF is
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13.

14,

15.

(A) Control Return and Line Feed  (B) Carriage Return and Form Feed
(C) Control Router and Line Feed (D) Carriage Return and Line Feed

if _npame == main_"
main(sys.argv[1:]) meTusear Ssubhsm smipliys s bm
(=) main(sys._argv(1:]) (=) __name__
(@) _main__ (%) argv
The function call statement of the segment.
if _name__ =='__main__"

main{sys.argv[1:])

s
(A) main{sys.argv(1:]) (B) _name__
(C) _main__ (D) argv

SULsir gramsmglena s Hm sy S5

(=) GROUP BY  (g)ORDERBY (&) HAVING (=) CONDITION
Which is not 3 SOL clausa?
(A)GROUP BY - (B)ORDERBY ~ (CYHAVING (D) CONDITION

Matplotlib-& L m aflerdsl L Sms amnry uudaroFSS0LED SswH g

{my) pitbar( ) () pit.chart] ) {3 pip.bar{ ) {=) pip.chart{ )
To make a bar chart with Matplotlib, which function should be used?
{A) pltbar ) (B} pit.chart{ } (B) pip.bar( ) (D) pip.chart{ )
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uig s — || PART -1

sr3meniih sypy aller T dsemd s allaewalldnae. sapis aiam aaw 2165
&L miinas s allan . wiafssan) b, G=2=12

Answer any six gquestions. Question No. 21 Is compulsory.

16, Namespaces ereipmsl sreivss ?
What do you mean by Namespacas?

17. Gl s sTaTnrsd sTeivanr T symek susnsssT wirene?
What is searching? Write its types.

18, Gewpmed wHpn SruGapul gl bhann aenywnss.
Define Operator and Operand.

19, sugsTolld o drar mLsEseflsr aen sl wrans T
What are the types.of looping supported by Python?

20, ewussrer #r GeuHUTESai, =T UL sTsven?
What is the use of the operatar 4= In Python string operation?

21, Qmrpdsioul Bever mhgpenpulssr Sesafiul® eremer?
alpha=listirange{65,70))
for ¥ in alpha:
printichr{x), end="t")
What will be the output of the following snippet?
alpha=list{range(65,70})
for x in alpha:

print(chrix), end="t"
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22,

23.

24,

50L& WHERE gpenssmnllenas s fofier Lwsir srsimar?
What is the use of WHERE clause in SQL?

snudsreafld Guriy Srwhurc { wigflemarssr wiramea?
What are the steps involved in file operation of Python?

GETEHOureT whpd afiGlwryl wrpflenw Saumu@bss.
Distinguish compiler and interpreter.

L g — I PART -1l

aEsEIE I Sl Td s s el wefdsayn, spubdla allarr aaw 294

Al swwrs alleae wallssai. Ex3=18

Answer any six questions. Question No. 29 is compulsory.

25,

26,

27,

28,

Strien Glrwhe g asr g srw GFwhe gy e syamyssiubdng?
Why strien is called pure function?

Bl g sl ehs uyEs sudTuRESOUREDST HES 1SSl
mmrmg].
Which strategy is used for program designing? Define the strategy.

sfhg SSad sapm (Jump statement) Fe PednFurs wwsaroBdng? oen?
Which jump statement is used as placeholder? Why?

G0 LlFfupsp  erumsse  Gurg  saorggla  Gsmsrse Gy w

& (G EH HA KT wWrana
What are the points to be noted while defining a function?
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28.

30.

J1.

3.

33.

GsrREsOUC R aigasms sidFaghsrar euisrar B arenD g,
Write & Python program lo display the given pattemn

COMPUTER

COMPUTE

COMPUT

COMPU

COMP

COM

co

c

Ueramie Srafsr Sanafuf(® sremsr?
What is the output of the following program?
class Greeting:
def __init__{self, name);
salf.__name = nama

daf display|seil):
print{"Good Moming *, self.._name)

obj=Greeting(Tamil Nadu')
obj.display()

arimafusr Sumasme 9% o (BiEGIdsT BIL T ailerdsse.
Explain Cartesian product with a suitable example.

Apiaailiy susmrs; (o) fetchall( | () fetchone( ) (@) fetchmany
Write & shart nota on (i) fetchall{ ) (il) fetchone( ) (i) fetchmany

Llshrau Bl aIemrU LSS SUen raGImTen eLGSTeT Blrd Garenm s,
Write a Python code fo display the following chart.
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uma — IV [ PART - IV

Sysmen gl al v Esgndmin allaol wealls b, 5x5=25
Answer all the questions.

M. yelsrEss Brarsssdearn sr3na i mis LW smen aupEs.
a) Write any five benefits in using modular programming.
(g o { or)
=) souggraflan input{) whHmn print() Gl wih s sena
sT{RSFZISSETL BT allardgns,
b) Explain input() and print() functions of Python with example,

35, o) eoudgrafien for w_sansd uphal el fiars el g,
a) Write a detail note on for loop in Python.

(mjsveng ! or)
) enuigsralisn o drar LCGaimi aeenswTar BFw i s ear
sTpE g (R sflswd s,
b) Explain the different types of functions in Python with example,

36. ) wuggrals find] ) Grunes Hmn aFdardsr Ger allansss.
a) Explain about the find{ ) function in Python with example,
(spsuaug | or)
) enuggraflar remove( ), pop( ) whm clear( ) Glewhas gisener silH s,
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b} Compare remove( ), popl ) and clear{ ) function in Python.

I, ) sreydser Quwwranime ysmuldar (DBMS) s gl jsenmar ol v .
@) Explain the components of DBMS,
(o svang [ or)
) SOLar e gudisdn wirens? sdamiysaflan SO0 maTanar o s,
b) What are the components of SQL? Write the commands In each.

3. ) 2 paydlow Fupsails Gewhsisaly Losrgmn Geupeifsmer ks
aBhsssTL B ar aflerdms
1) Union. (L) 2) Intersection (n)
a) Explain the following operators in Relational Algebra with suitable example
1) Unian. (U) 2) Intersection (n)
(ayseang f or)
o) FErFEsouc Herer Brgidsrear sray sredouEsse s ST LIL_fieng
SUEHT &,

b} Draw the output for the following data visualization plot.
import matplotibpyplal as plt
pit.bar([2 4,6,8,10],[5.2,7,8,2], label="Example one")
pit.bar{[1,3,5,7,9].[8,6.2,5,6], label="Example two", colar="g)
pit.legend()
plt.xlabel{'bar number')
pitylabel(’bar height')
plt.tite('Epic GraphinAncther Line'}
pit show()

L 2L

M }ﬁ\%‘@l‘
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